=g

1

PEAREAT SRR E R 3ES 2T F ¢ Rk
8

p9pF30 4

SR A EFE AT 806 K

\51}’#3&5:

WE R B 2 HIRE C FAE M F R IR A
RSN Q kFE N F . ’\b“%ﬂ";% ~ 3.4‘%?_1’;‘ s PR P
Pk 3~ ERPLA

it%?ﬁ\%ﬁ%~gag\ma%

Bmd 1 FFERBAR

AR

FoEAF R SRR FRY > PR ZRE
5121@%\”ﬁ§~%i@
CFUR AR L R M Ao R S EE A

JEF’

SRR R Y- RUSTS

(=) 2 iFdpd (WEHEFHRLETEHLENRT)) Q
Ax g e
(=) M2 (97 10 7 -98 # 3 7 (pdarfe L R 2 Fhderif it - ) o
i‘i: /@f& °
SCET T
#R-C
%d P LERERT R o

EHEA IR S = gUSTE S L*Fizi‘a“%-ifé? LT BRI A
EEBR B F S YR AER L AR LERT S et gzz»a‘ﬁ”

ARk RRIUE o

#E=

S DT ERCARLAE FAL G A IS o Fh

AR I REUE O R ER S R

k=

%d 108#67 20p (2% ) $3EF 3BT FEREHA N2 1T
Bk

AECIE R RS G R MAE & M L E £ o R
3 e

#c¢ (10530 4 )-



i —

i SR IRE o I
97.10.05~98.03.27

97.10.04 4 312,095
[z »1]
BEEFET 35,000
EE N 128,500
£ § e 13,000
»E 7 2,000
jo - O N 36,000
14 4 » 112
o r &2t 214,612 | 526,707
[£ 2]
$ 2 EY 8 xmE RTEEGBE R E L
?972 1(?/2113/5% zéf)i BAREEEE 31,980
¥ 2 REY 9 xmE FTEER 2D
?972. 1;/20 ag*%kf# FAREAATA 28,89
FAy (RrEae) 45,000
9T ER &R~ & &t 11,000
s (RET ER2BH) 1,860
- S Sl 23,000
BrEAP oRHEFF LT 46,000
Facdd (o¢ 3 PR BREsmTA) 10,000
14 15,000
TR T T 2,900
s 781
EREI- 210,917
[& 4] 315,790
[FT5E]
1. - ‘E:J MR ;ﬁ@%;% 5,000 ~ £ &7Y[1 10,000 ~ FHE5E 10,000 ~ jﬂﬁéj@i 10,0005} 3 ")
2. R fF,J 815,000 ~ #7154 5,000 ~ %i‘_rw\%:% 3,000 - %Jﬁ{ﬂﬂ(ﬁwﬁ
£1)10,000 ~ #§F1 100,000 ~ 5| %L 4,000 ~ 3=5EgT 1,500
3. LS EiEH f* ik 36, ooo
4. TR POERESIEEE | 5,000 - T ETE LS 242 | 18,000
5. SERETRE S @AY 98.3, 27 e $36§ 758 ( y I 350,000 )
6.

REPA TR (45 E GRAT $526,937 -
gdF I 5(H198.03.27




HE-

P LT R

fo L A5 8% £

PERARITAEOL Y 0L pE 9T I20 3P

i i 5 0
T ] 7 . 5 & 1 %

fer (g3 478, 683 100. 004

1 €7 18,000 3. 76%
1 €T 4,000
2 ¥EEF 14,000

2 ELIETN 460,490,  96. 20%
1 - AR 460,490
2 dp L AR 0

3 His 193 0.04%
1 SUBNESS 193
2 A BA T~ 0

2 2 A (EF) 337,191  70. 444

1 AR 15,0000  3.13%
1 FE LN 15,000
2 B 5% 0

2 PENF 70,905  14.81%
1 v B 0
2 Bk B 0
3 T % 925
4 17 RE 0
5 il 0
6 wAF 21,000
7 ReIE LY 46,000
8 LA RIBT 0
9 B 0
10 Hi g 2,980

3 L 251,286|  52.50%
1 g7 34,550




2 RS 71,040

3 ¥R 3 12,250

4 TREET 29,300

5 T S B B 0

6 Ak g PRAE T 32,500

7 e B 2,146

8 3 p¥ 10,000

9 i 59,500
3 HRBEFRSE 30000 10. 45%
4 rE Y 91,492 19 11%
Ll A3 FIAEE wE £ Bk



G W ok

7RG

FA[FZ

PEL 97 E 27 3] F
B AL F 2 A & % 4
4 £, =X J'-: 7 i
i EE sz FA T 36,000
’ ELN ¥
74 2330, EHF 56,000
7 13 30
oL Hp 5 -
e 2P F AR 371,985
7‘1 ﬁ o . # 21 [«
T _Hp 7 A oF ¥R g
2 é' e
£ FREF 56,000
HZFZ Y
JE 5 318,315
M A
BiF KA 100,000
B2l ph o)
AR, 126,823
H# icé 0 ~Hp AR 91,492
4 3+ & 7
[ P 374,315 F i 374,315




